

# Factors Involving Almost Increasing Sequences in Absolute Riesz Summability

S. SONKER<sup>1</sup>, R. JINDAL<sup>1</sup>, and L. N. MISHRA<sup>2\*</sup>

<sup>1</sup>Department of Mathematics, National Institute of Technology, Kurukshetra, Naryana 136119, India, <sup>2</sup>Department of Mathematics, School of Advanced Sciences, Vellore Institute of Technology, Vellore, Tamil Nadu 632013, India; Email: lakshminarayanmishra04@gmail.com

**Abstract.** *Absolute summability of infinite series has been a subject of profound interest in theory and application, particularly in bounded input bounded output (BIBO) stability. In this note we report on a generalization of the  $|\bar{N}, p_n; \delta; \gamma|_q$  summability to this same summability with pertaining factors involving almost increasing sequences.*

**Key words:** Riesz Mean, Absolute Summability,  $|\bar{N}, p_n; \delta; \gamma|_q$  Summability, Hölder's Inequality.

**AMS Subject Classifications:** 26D15, 40F05, 40D15, 40G05

## 1. Notation & Introduction

A sequence  $(\mu_n)$  is of bounded variation,  $(\mu_n) \in BV$ , if

$$\sum_{n=1}^{\infty} |\Delta\mu_n| = \sum_{n=1}^{\infty} |\mu_n - \mu_{n-1}| < \infty,$$

and a positive sequence  $(g_n)$  is said to be (s.t.b.) almost increasing, if  $\exists$  a +ive increasing  $(h_n)$  and there are 2 +ive constants,  $M$  and  $N$  such that

$$M h_n \leq g_n \leq N h_n.$$

---

\* Corresponding author.

Let  $\sum a_n$  be an infinite series whose partial sum's,  $s_n = \sum_{k=0}^n a_k$ , sequence is  $(s_n)$  with the mean of  $(s_n)$ , denoted by  $u_n$ , is

$$u_n = \sum_{k=0}^{\infty} u_{nk} s_k. \quad (1)$$

**Definition 1.1.** An infinite series  $\sum a_n$  is absolutely summable, if  $\lim_{n \rightarrow \infty} u_n = s$  and

$$\sum_{n=0}^{\infty} |u_n - u_{n-1}| < \infty. \quad (2)$$

**Definition 1.2.** [1] Let the  $r^{\text{th}}$  Cesàro mean of  $(na_n)$  be denoted by  $t_r$ . If

$$\sum_{r=1}^{\infty} (1/r) |t_r|^q < \infty, \quad (3)$$

then  $\sum a_n$  is s.t.b.  $|C, 1|_q$  summable where  $q \geq 1$ .

**Definition 1.3.** [2] Let  $\{p_s\}$  be of +ive numbers and

$$P_s = \sum_{r=0}^s p_r \rightarrow \infty, s \rightarrow \infty, (P_{-s} = p_{-s} = 0, s \geq 1). \quad (4)$$

If  $\sigma_s$  defines the  $(\bar{N}, p_s)$  mean i.e.

$$\sigma_s = \frac{1}{P_s} \sum_{k=0}^s p_k s_k, P_s \neq 0, s \in N, \quad (5)$$

&  $\lim_{s \rightarrow \infty} \sigma_s = m$ , then  $\sum a_s$  is s.t.b.  $(\bar{N}, p_s)$  summable generated by  $(p_s)$ .

Furthermore, if  $(\sigma_s)$  is of bounded variation with index  $q \geq 1$ , i.e.

$$\sum_{s=1}^{\infty} \left( \frac{P_s}{p_s} \right)^{q-1} |\sigma_s - \sigma_{s-1}|^q < \infty, \quad (6)$$

then  $\sum a_s$  is s.t.b.  $[\bar{N}, p_s]_q$  summable.

**Definition 1.4.** [3] If

$$\Delta \sigma_{s-1} = -\frac{p_s}{P_s P_{s-1}} \sum_{v=1}^s P_{v-1} a_v, s \geq 1. \quad (7)$$

and

$$\sum_{s=1}^{\infty} \left(\frac{P_s}{p_s}\right)^{\delta q + q-1} |\Delta\sigma_{s-1}|^q < \infty, \tag{8}$$

then  $\sum a_s$  is  $|\bar{N}, p_s; \delta|_q$  summable, while if

$$\sum_{s=1}^{\infty} \left(\frac{P_s}{p_s}\right)^{\gamma(\delta q + q-1)} |\Delta\sigma_{s-1}|^q < \infty, \tag{9}$$

then it is summable  $|\bar{N}, p_s; \delta; \gamma|_q$ , where  $q \geq 1$ ,  $\delta \geq 0$  and  $\gamma$  is a real number.

Bor generalized in [4]-[5] a theorem dealing with factors affecting the absolute Riesz summability and established two theorems using more general conditions for the infinite series. Later works [6-7] of Bor, on weighted arithmetic mean summability, contained many practical applications. Sonker and Munjal reformulated in [8]-[[12] the absolute Riesz summability theory by using minimum conditions on the pertaining factors. In this note, we extended a result of Sonker and Munjal, in [13], to develop a generalized absolute Riesz summability for weaker pertaining factors, involving almost increasing sequences.

## 2. Earlier Related Work

Sonker and Munjal [13] have proved the following result using  $|\bar{N}, p_n; \delta; \gamma|_q$  summability.

**Theorem 2. 1.** [13] *Let  $(\chi_n)$  be an almost increasing and the  $(\beta_n)$  and  $(\lambda_n)$  are such that satisfying the conditions:*

$$|\Delta\lambda_n| \leq \beta_n, \tag{10}$$

$$\beta_n \rightarrow 0 \text{ as } n \rightarrow \infty, \tag{11}$$

$$\sum_{n=1}^{\infty} n |\Delta\beta_n| \chi_n \leq \infty, \tag{12}$$

$$|\lambda_n| \chi_n = O(1) \text{ as } n \rightarrow \infty, \tag{13}$$

$$\sum_{n=v+1}^{\infty} \frac{1}{P_{n-1}} \left(\frac{P_n}{P_n}\right)^{\gamma(\delta q + q-1)-q} = O\left\{\frac{1}{P_v} \left(\frac{P_v}{P_v}\right)^{1-q + \gamma(\delta q + q-1)}\right\}, \tag{14}$$

$$\sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q-1)-q} |t_n|^q = O(\chi_m), \tag{15}$$

$$\sum_{n=1}^m \frac{|\lambda_n|}{n} = O(1), \tag{16}$$

and

$$\sum_{n=1}^m \frac{1}{n} \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q-1)-q} |t_n|^q = O(\chi_m), \text{ as } m \rightarrow \infty, \quad (17)$$

then  $\sum a_n \lambda_n$  is  $|\bar{N}, p_n; \delta; \gamma|_q$  summable.

Another result, to be needed later, is the lemma to follow.

**Lemma 2. 1.** [14] *Let  $\{\chi_n\}$ ,  $\{\beta_n\}$  and  $\{\lambda_n\}$  be as in the known result, satisfy the condition (12). Then*

$$n\beta_n \chi_n = O(1) \text{ as } n \rightarrow \infty, \quad (18)$$

$$\sum_{n=1}^{\infty} \beta_n \chi_n < \infty. \quad (19)$$

### 3. Main Result

The main result of this note is a proof of the earlier result of [14] under a weaker condition on the  $n$ -th Cesàro means  $t_n$ . Accordingly, this result states as follows.

**Theorem 3. 1.** *Let the sequences  $(\chi_n)$ ,  $(\beta_n)$  and  $(\lambda_n)$  be such that the conditions (10-17) hold with the condition (15) and (17) replaced respectively by:*

$$\sum_{n=1}^m \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q-1)-q} \frac{|t_n|^q}{\chi_n^{q-1}} = O(\chi_m), \quad (20)$$

and

$$\sum_{n=1}^m \frac{1}{n} \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q-1)-q} \frac{|t_n|^q}{\chi_n^{q-1}} = O(\chi_m), \text{ as } m \rightarrow \infty. \quad (21)$$

Then  $\sum a_n \lambda_n$  is  $|\bar{N}, p_n, \delta; \gamma|_q$  summable.

*Proof.* Let  $Y_n$  be the  $(\bar{N}, p_n)$  mean of  $\sum a_n \lambda_n$ . Then, we have

$$Y_n = \frac{1}{P_n} \sum_{v=0}^n p_v \sum_{i=0}^v a_i \lambda_i = \frac{1}{P_n} \sum_{v=0}^n (P_n - P_{v-1}) a_v \lambda_v. \quad (22)$$

Then, for  $n \geq 1$

$$\Delta Y_n = Y_n - Y_{n-1} = \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} a_v \lambda_v = \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n \frac{P_{v-1} \lambda_v}{v} v a_v.$$

$$\begin{aligned}
 &= \frac{n+1}{n P_n} p_n t_n \lambda_n - \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v t_v \lambda_v \frac{v+1}{v} \\
 &+ \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \Delta \lambda_v \frac{v+1}{v} + \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \lambda_{v+1} \frac{1}{v} \\
 &= Y_{(n,1)} + Y_{(n,2)} + Y_{(n,3)} + Y_{(n,4)}.
 \end{aligned} \tag{23}$$

To complete the proof, it is enough to prove

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1)} |\bar{\Delta} Y_n|^q < \infty. \tag{24}$$

Using Minkowski's inequality,

$$|Y_{(n,1)} + Y_{(n,2)} + Y_{(n,3)} + Y_{(n,4)}|^q \leq 4^q (|Y_{(n,1)}|^q + |Y_{(n,2)}|^q + |Y_{(n,3)}|^q + |Y_{(n,4)}|^q),$$

then equation (24) reduces to

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1)} |Y_{(n,r)}|^q < \infty \text{ for } r = 1, 2, 3, 4. \tag{25}$$

Now the left hand side (L.H.S.) of equation (25) is:

$$\begin{aligned}
 \sum_{n=1}^m \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1)} |Y_{(n,1)}|^q &= \sum_{n=1}^m \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1)} \left| \frac{n+1}{n P_n} p_n t_n \lambda_n \right|^q \\
 &= O(1) \sum_{n=1}^m \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1) - q} \frac{|t_n|^q}{\chi_n^{q-1}} |\lambda_n| \\
 &= O(1) |\lambda_m| \sum_{n=1}^m \left( \frac{P_n}{P_n} \right)^{\gamma(\delta q + q - 1) - q} \frac{|t_n|^q}{\chi_n^{q-1}} \\
 &+ O(1) \sum_{n=1}^{m-1} \Delta |\lambda_n| \sum_{v=1}^n \left( \frac{P_v}{P_v} \right)^{\gamma(\delta q + q - 1) - q} \frac{|t_v|^q}{\chi_v^{q-1}} \\
 &= O(1) |\lambda_m| \chi_m + O(1) \sum_{n=1}^{m-1} |\Delta \lambda_n| \chi_n
 \end{aligned}$$

$$\begin{aligned}
&= O(1) \text{ as } m \rightarrow \infty, \tag{26} \\
\sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1)} |Y_{(n,2)}|^q &= O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
&\quad \times \sum_{v=1}^{n-1} p_v |t_v|^q |\lambda v| \left( \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_v \right)^{q-1} \\
&= O(1) \sum_{v=1}^m p_v |t_v|^q |\lambda v| \\
&\quad \times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
&= O(1) \sum_{v=1}^m p_v \frac{|t_v|^q}{\chi_v^{q-1}} |\lambda v| \frac{1}{P_v} \\
&\quad \times \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1)} \\
&= O(1) |\lambda_m| \sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1)} \frac{|t_n|^q}{\chi_n^{q-1}} \\
&\quad + O(1) \sum_{n=1}^{m-1} \Delta |\lambda_n| \sum_{v=1}^n \left(\frac{P_v}{p_v}\right)^{\gamma(\delta q + q - 1) - q} \frac{|t_v|^q}{\chi_v^{q-1}} \\
&= O(1) |\lambda_m| \chi_m + O(1) \sum_{n=1}^{m-1} |\Delta \lambda_n| \chi_n \\
&= O(1) \text{ as } m \rightarrow \infty, \tag{27} \\
\sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1)} |Y_{(n,3)}|^q &= O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
&\quad \times \sum_{v=1}^{n-1} P_v |t_v|^q \beta_v \left( \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} P_v \beta_v \right)^{q-1}
\end{aligned}$$

$$\begin{aligned}
 &= O(1) \sum_{v=1}^m P_v \beta_v |t_v|^q \\
 &\times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
 &= O(1) \sum_{v=1}^m P_v \frac{|t_v|^q}{\chi_v^{q-1}} \beta_v \frac{1}{p_v} \\
 &\times \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1)} \\
 &= O(1) \sum_{v=1}^m v \beta_v \frac{1}{v} \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1) - 1} \frac{|t_v|^q}{\chi_v^{q-1}} \\
 &= O(1) m \beta_m \sum_{v=1}^m \frac{1}{v} \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1) - 1} \frac{|t_v|^q}{\chi_v^{q-1}} \\
 &= O(1) \sum_{v=1}^{m-1} \Delta(v \beta_v) \\
 &\times \sum_{i=1}^v \frac{1}{i} \left(\frac{P_i}{p_i}\right)^{1-q + \gamma(\delta q + q - 1) - 1} \frac{|t_i|^q}{\chi_i^{q-1}} \\
 &= O(1) m \beta_m \chi_m + O(1) \sum_{v=1}^{m-1} |\Delta(v \beta_v)| \chi_v \\
 &= O(1) m \beta_m \chi_m + O(1) \sum_{v=1}^{m-1} |\Delta \beta_v| v \chi_v \\
 &+ O(1) \sum_{v=1}^{m-1} \beta_v \chi_v \\
 &= O(1) \text{ as } m \rightarrow \infty.
 \end{aligned} \tag{28}$$

and

$$\begin{aligned}
 \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1)} |Y_{(n,4)}|^q &= \sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1)} \\
 &\times \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \lambda_{v+1} \frac{1}{v} \right|^q \\
 &= O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
 &\times \sum_{v=1}^{n-1} P_v \frac{|\lambda_{v+1}|}{v} |t_v|^q \left( \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} P_v \frac{|\lambda_{v+1}|}{v} \right)^{q-1}
 \end{aligned}$$

$$\begin{aligned}
&= O(1) \sum_{v=1}^m P_v \frac{|\lambda_{v+1}|}{v} |t_v|^q \\
&\times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}} \left(\frac{P_n}{p_n}\right)^{\gamma(\delta q + q - 1) - q} \\
&= O(1) \sum_{v=1}^m P_v \frac{|\lambda_{v+1}|}{v} \frac{|t_v|^q}{\chi_v^{q-1}} \frac{1}{P_v} \\
&\times \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1)} \\
&= O(1) |\lambda_{v+1}| \sum_{v=1}^m \frac{1}{v} \left(\frac{P_v}{p_v}\right)^{1-q + \gamma(\delta q + q - 1) - 1} \frac{|t_v|^q}{\chi_v^{q-1}} \\
&+ O(1) \sum_{v=1}^{m-1} \Delta |\lambda_{v+1}| \\
&\times \sum_{i=1}^v \frac{1}{i} \left(\frac{p_i}{P_i}\right)^{1-q + \gamma(\delta q + q - 1) - 1} \frac{|t_i|^q}{\chi_i^{q-1}} \\
&= O(1) |\lambda_{m+1}| \chi_m + O(1) \sum_{v=1}^{m-1} \beta_{v+1} \chi_{v+1} \\
&= O(1) \text{ as } m \rightarrow \infty. \tag{29}
\end{aligned}$$

Collecting(22)- (24), demonstrates that the validity of (25). Here the proof ends.  $\blacksquare$

From this main result, we can prove some previous results as well as new results in the form of corollaries.

**Corollary 3. 1.** *If in the main theorem we take  $\gamma = 1$ ,  $\delta = 0$  and  $q = 1$ , then  $\sum a_n \lambda_n$  is  $|\bar{N}, p_n|$  summable.*

**Corollary 3. 2.** *If in the main theorem we take  $\gamma = 1$  and  $\delta = 0$ , then we are directed towards the new result :  $\sum a_n \lambda_n$  is  $|\bar{N}, p_n|_q$  summable.*

## 4. Conclusion

In this note, we have extended an earlier result of Sonker and Munjal, in [13], to develop a generalized absolute Riesz summability for weaker pertaining factors, involving almost increasing sequences. The reported corollaries illustrate the consistency of our main result with classical absolute Riesz summability of infinite series.

### Acknowledgments

This work has been financially supported by the Science and Engineering Research Board (SERB) through Project No. EEQ/2018/000393. The authors offer their sincere thanks to this SERB for the financial support provided. They are also grateful to an anonymous referee for



his/her critical reading of the original typescript.

## References

- [1] T. M. Flett, On an extension of absolute summability and some theorems of Littlewood and Paley, *Proceedings of London Mathematical Society* **3**(1), (1957), 113-141.
- [2] H. Bor, On two summability methods, *Mathematical Proceedings of the Cambridge Philosophical Society* **97**, (1985), 147-149.
- [3] H. Bor, On local property of  $|\bar{N}, p_n; \delta|_k$  summability of factored Fourier series, *Journal of Mathematical Analysis & Applications* **179**, (1993), 646-649.
- [4] H. Bor, A new theorem on the absolute Riesz summability factors, *Filomat* **28**(8), (2014), 1537-1541.
- [5] H. Bor, Some new results on infinite series and Fourier series, *Positivity* **19**(3), (2015), 467-473.
- [6] H. Bor, Factors for absolute weighted arithmetic mean summability of infinite series, *International journal of Analysis and Applications* **14**(2), (2017), 175-179.
- [7] H. Bor, A new note on absolute weighted arithmetic mean summability, *Lobachevskii Journal of Mathematics* **39**(2), (2018), 169-172.
- [8] S. Sonker, and A. Munjal, Absolute summability factor  $\phi - |C, 1; \delta|_k$  of Infinite series, *International journal of Mathematical Analysis* **10**(23), (2016), 1129-1136.
- [9] S. Sonker, and A. Munjal, Absolute  $\phi - |C, \alpha, \beta; \delta|_k$  summability of infinite series, *Journal of Inequalities and Applications* **168**, (2017), 1-7.
- [10] S. Sonker, and A. Munjal, Application of quasi- $f$ -power increasing sequences in Absolute  $\phi - |C, \alpha; \delta; l|_k$  summability, *Proceedings of the International Conference on Computational Physics, Mathematics and Applications*, held in Zurich, Switzerland, 2017.
- [11] S. Sonker, and A. Munjal, Absolute summability factor  $|N, p_n|_k$  of improper integral, *International Journal of Engineering and Technology* **9**(3S), (2017), 457-462.
- [12] S. Sonker, and A. Munjal, Application of almost increasing sequence for absolute Riesz  $|\bar{N}, p_n^\alpha, \delta; \gamma|_k$  summable factor, *Pertanika Journal of Science and Technology* **262**(2), (2018), 841-852.
- [13] S. Sonker, and A. Munjal, On generalized absolute Riesz summability factor of infinite series, *Kyungpook Mathematical Journal* **58**(1), (2018), 37-46.
- [14] S. M. Mazhar, A note on absolute summability factors, *Bulletin of the Institute of*

*Mathematics Academia Sinica* **25**(3), (1997), 233-242.

---

Article history: Submitted July, 25, 2021; Revised December, 29, 2021; Accepted December, 31, 2021.